o lall dugiladl dual gl polosi] & aldme jbuens!
bl jgall — Yo VA/Y oY (gl yall olall |
(adialadl dill) il pogllly unsloaadl -Baldl ot

gage ity
Yo VA A/ Yo« ayladl
»\ 3 ik (YA) dual Il ladd a5
wilohe mite : aladl go) Gilakea (£) wi¥uil] iV
S g L duia el G g el (sl
=4 o yadl i d o SI1 ol i il o aSLallg
salpdl | yadadl 2 il R ol eeee o
b gl & 900
e
o gud | gy
: w_?!)_IJ ole Lozl
dadaa (YA) ! ] ilnid s goiniel] ol g ol g gl 139
Cilaka (£) cithill ity ol il st yall o] alimds el | gl | gy
sl dlgiuss il g T g9all — Yo VA/Y VY sl yall ol
el ] ki i i g g (i) 2l ) ! gl b hgual - Bald
Yo VA/A/Y o @)U'
e gagel il W Abadl geo)
[ (Gl ) I o
L a3yl 1 S
o bl :u;.‘ \ ‘L‘ v_;)
LY ol G i ol g
Ly | el S il st diilaog
el o e ! i
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daga Cilalas ]

Nsas (£0) laia¥) A S Al ae -

Asdia (YA) plaia¥) 4ul S Silstia 22 -

i g gd claie¥) dul S Cladia de ey ALY a8 55 e S -

(el &) HLaaY) e -

A () SRl A Ax all -

P Agling cilaghadl) 038 §3) -, lldall (g 350

ALY e conl s g Al Ladie sl laia¥) Al S dadie ol su 12 Cilagletl) 80
Alla) o) J8 Tas 48 S dling Jgad) T

I JS (o Jadh Baal g dady LlaY) ugthall g ¢ pladd daa jia AlinY)

A e ahadil ade 5 ocla sus )l 3 Galia Al ¢ DU (35580 Calad) A8l aas)
dalial dalall Al s Ula Dl danadiall dalwal) 8 ol Adlial) Al WU elila) 2ie
Go S elila) )5 ¢ L) 8 GY) e 5 gusall Cladia B s JLSE ) (S 5 A
L e oy Ca s A

g\ ol

4 (B) ol (A) oo el BbaaY) Adad) A e olils) v
ra g Of i G JUEAY) Aliud ¢e dlijla) die 8
e U0 DL Sl danall Ay e JIal) Sl cld 3 y3lall JUs
Mia (C) dagnual dla 10

: Aaauall 4daY)

®O®

Anna WY cad dagaias Ala) Cualy el a5 clad Als) Conl 1Y Ledlls & -
Lot LY o Uad 4la) Cual s Ghdlly cad 2 ¢ dagaa Al cial 13 Ll A5 -
: A gala
a9l Say e SSH e Sl a5 )] (aaia G JLIAY) A puda gal) ALLY) Ala B
ol 4iay) el ¢ Alay) ) S
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Answer the following Questions:

1- Answer one the following (A) or (B):
Write the scientific term:
(A) A huge vast landmass started since
220 million years ago to split into
pieces far apart from each other and

they achieved their present positions.

(B) A scale used for measuring the
intensity of earthquake, where it is a
specific measurement of the damage
results by the earthquake beside the
reaction of people by it.

P AGY ) A e c

103 (@) 9 (1) el guadt s st =)

1ole JIA pelal mllaaed! LS

Bag>ge COIS Mg A aall 5ylatt -
Of g s ple Ogls YY- B
4B paadl OHLAN Lgie mid Juadis
]

oubde gp9 JHYII BudY (ulde -
O b sl A ot (e g
S i) e 559 JIH

2- What would happen if ............... s bie Codony f3le - Y
There 1s a different hardness of rocks on ol e Hgiall LDl B
both sides of the river. Syl
2 LA 5
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3- Answer one the following (A) or (B):
Choose the correct answer:
(A) Geological time scale is not complete
in one place due to.........

(@) Presence of anticline folds
(®  Unconformity surfaces
(©  Orogenic movements

(@ Extinction of giant reptile

(B) One of the earth’s internal structures
with a thickness about 2100 km and
consisting mainly of molten iron and
nickel.

Inner Core
Upper Mantle

Outer Core

® 066

Earth’s Crust

4- Justify the following:
The moon light has a pronounced effect on
animals living on the sea shores.

1D (@) 9f (1) Gt guad) i st =¥
zh&w‘ 2\,11.;3.}'!,35-‘

Sals o> 87 gt Joaad | JLaIS | pe

©)
321901 pac @
Sl 2oL Sl > Ggas (D)

®

.ﬁ)&aﬂ‘;&:‘jﬂ| >=15vx1

NPPRICRLVE B INEURT [JCA TN (P g
O catling yieglS YAve 1 dSew
.......... JScd g st Hggan

EECH [N {

ZLaaM (ye g glall s 3t

—‘_,:'-)B.ﬂg.d.ﬂ

LA 3 B it

OROROXS)

slini 2 v gele J_J_*a‘l_"' i s gunty -2
NCEPC W { A Z P {
B yliall sl (B0

3
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5- Answer one the following (A) or (B):
What is meant by:
(A) Tropism
(B) Biosphere.

103 (20) 91 (1) ol i i3t -0
1= dguadall La

Sl ¥l -

S gIl AMAY —o

6- Mention the importance of the following:

Building of nuclear reactors.

x'&.,g.in,S’.ﬂ -1
g9l e laad| Asld]

4
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7- Study the given figure and answer the Lo coai @ YL JSENS ymuyal =V
following: b
(A) This figure represents ............. | == oo Jaud 392 gl JSGI1 ¥ ]

G 61 (5 20
River stream

A

(B) What are the causes of formation of Gl g 1 008 0555 Ll o Le Lol
these clastic sediments? Saglial|

(C) Which sediments are older C or A?, Why?. | 5i (A) tree pusi couty 1 ctts 61 -1
sisLety (C)

5 AL
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8- Compare between:
Play of colour and cleavage, concerning
definition and give mineral examples.

100 IS (i ()18 -A
G (po plaas¥iy OlgI¥ s ye
LOalaat! (e Aiel S ae iy paid

Play of colour
O11¥1 42 e

Cleavage
plady ¥

Definition
el

Example
Aiel

9- “Granite and quartzite are two
different rock types”
(A) What is the texture and mineral
composition of granite?
(B) What are the geological processes

responsible for the formation of
quartzite? and mention the produced
texture by these processes.

LS8 Gl 3 155 Gl pand -4
1 y9>wall (pa lalione
(38 St |y Sl waiLe ¥
$ hoinad S s gl
A A 31 gaonl WM o Lo <Ly
Ca 3281683 pmio Lgun 09550
S g .95 58 Loy
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10- What would happen if ................ 1 Gt 13ke -\ ¢
Two groups of sedimentary rocks, the Sladall (s 2o goms 355 Laie
older group layers which are tilted and the | o &esesse Laglasalile pu 531
younger group layers are horizontal. $2,58Y1 Sl dat

11- Write the number representing: 1008 US ole JIAT @B 31 CaS) -1
(A) Density of inner core. (Il I BaLs
(B) Thickness of the mantle. ol low —o

12- Answer one the following (A) or (B): 13 (@) 91 (1) ot 3uadt i 230 -\ Y
Explain the following: g

(A) The generalization of planting a single | 32 SleL! maesld gttt 531
crop in the same soil. Jguanatl

(B) Solving the over consumption of lellobalgdle Sk e
water problem.

7 At ol
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13- Write the scientific term: role JIA elall mllaaal | OSH -\ ¥
The Conversion of animal and agricultural | olsst Slatie dssa e g5l e
wastes to gas which is used as fuel. 39858 pusiuslly By Slalsetly

a3 e S

14- Justify the following: ik Lot Jle -1 ¢
The body of the Sphinx, which was s Ll Jaed) 5ol law sgls
smooth surface during its construction, ~Lagu- OIS Lal G52031 538 ualal!
but now it is fractured and rough. Y yhiany pulal

15- Choose the correct answer: 1 da8 Amouall A3la Wi 5l -1 0
Green plants which converted light energy | Js=s i sty st ol s
into chemical energy are considered as: o ileeS Al () Apelaa ¥ 23 LAY
@ Consumers 1Al ASgiue OLSIS @
@ Producers 108l Aie GLSIS @
@ Decomposers e OLSIS @
@ Saprophyte Ay oLisIS @

8 AWl ol

CIA 7 (VG o)l - A=alyol) dulinl) A
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16- Study the given figure and answer the s @3 YL JSEN (uyal -1 7

following:

)

—ew! 19
sediments

s

<, |

2; l 1‘2 lithification
(2) V' §

@ <=|§P 3)

metamorphic rockg
‘U}"‘“’ BY 9%

(A) This figure represents ............. SUSAT 4 Jies ol 3]

(B) Write down the name corresponding | (1) & JS e JIa3 @ud¥! cast :Lsls

to each number 1, 2 and 3

(A / £V Qi jgall - Gsalpol) @ylinl) @A

mm@u
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17- Answer one the following (A) or (B):

Compare between:

(A) Epiorogenic movements and orogenic

movements- (two points only)

13 () 9F (1) Gt 3uad ) s § p25n) -\ Y
1O (L3
OLS yomt g GHLELT ZGL ) OLS youtl -]
-JLeand! Juw Dbt aala

(B) Divergent plate motion & Sliding (dazd (yoidadiy 4950)
(Transform) Plate Motion ABYFAIAS 5Ty i‘e-ﬂ.ﬂ' 45)73 o
(concerning: definition) -l IS 15T SUY

(a2t o (30)
10 Al &b
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18- In the given figure, number (1) is LT L JSETN -\ A
representing the water table in a land B ot Ggin g (V) @B
sector. i)l pllad

(1
a- Which number (2) or (3) represents i ST e eB 01 51 1Y
the unsaturated zone with water?. (1) 51 (Y) oleatls daciial
b- What is the source of these sy ol | UG juae 9o Le s LalS

underground water?

11 LA

(A / £V Qi jgall - Gsalpol) @ylinl) @A
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19- Answer one the following (A) or (B): 1@ () 91 (1) oV 3t dmi it -1 4
Write the scientific term: 1le JIA elalt kot S|
(A) The breakdown of rock masses into L o B 11 5 gimacall s (1)

smaller .fr.agments of ‘thc same mineral al] B 5Kl Dsbacad| i e
composition as the original rock or A1 2 gt atgatt s coms
decomposition of the rock into its S e
constituting minerals under the effect | 2' s 6555 o8 i 052

of physical weathering conditions Cammnd

without change in its chemical or e g8 S| s i) JS (2)

mineral structure. Sl ol HLga ¥ slee sLaxtf
(B) A Land form of triangular shape, | sis atemi Lo o yid iy

which formed when rivers joined with oY

seas and lakes, the load of sediments

that the river carry will be deposited.

20- What is meant by: 1) dguadal Le - Y ¢
Specific gravity of mineral Sounall e gill (y3a!
21- Choose the correct answer: 1 JaG8 Aomouall Al W1 J05 0 =Y )
All the following are primary geologic | ads¥cesi i i b L«:ls Ay
structures except .......... | e e Lo

@ Mud cracks cacdal ) il S8 @
@ Ripple Marks ed Sl Sle @
@ Joints . Juolgatl @
@ Gradded bedding adall g it @
12 LA 5
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22- What would happen if..................... slodie Gidomy 13Le - Y Y
There is scratching between fluorite and |  $5bsd! Guses cosslall Guns liomy
topaz minerals.

23- Justify the following: 1k et Yo VY
Gabbro differs from basalt, while both O eIl CSLT (e gt Cabidey
have the same mineral composition. ORI G
(@M su g adadin La150)
Gabbro Basalt
gxlnt cdsldl
13 LA 5
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24- Compare between:
Overgrazing and the over hunting,
concerning definition only.

1o Oyld =Y E
o (pa) ySlantl sl 5 SLonll e 31
(dnad Cas ,ad!

Overgrazing
JUPSIPPSR]

Over hunting
JUPSIIWRY

25- Answer one the following (A) or (B):

Explain:

(A) The rock salt layers had accumulated
during the Permian period occurred in
central Europe.

(B) Determination of the Location of
Epicenter of an earthquak.

12 (@) o) (1) o guadt s § Ji5n) - YO
1S
A1 sl G Al gt s Le
2 Gt platdt Sla e @S0,
<o i) puall B Lig gl
I S e 392 Aadh i -0

14
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26- “If we started with an amount of
phytoplanktons that weight 500 grams”
From the previous statement answer
the following:

a- Calculate how many grams of it will be
move to the following trophic level in
the zooplanktons.

b- Give one complete marine food chain.

Glaalglt (oo max 0+ ¢ Lt 5IS 131, - Y1
ARG LA
O sl Bylpatt old o g (B
s AG Y Al
Aot 31 S Lo pl o oS casen | ¥
A0 g Oladlgd B 2L
Cye ALalS B> lg aleat »S30:L01
—Z o 2128 S

27- What is the importance of:
Photosynthesis process for continuation of

life.

z;\*‘bi le =YV
Bl | 5l pmaliawd (i guialf £l | Adlac
Suas¥i e

15
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28- Answer one the following (A) or (B):
Write the scientific term:

(A) The branch which is mainly concerned

with the study of minerals, their
physical and chemical properties and
the forms of their crystal systems.

(B) Fractures or cracks cutting rock masses

and accompanied by relative movement

(Displacement) of rock masses along
both sides of its plane.

29- Answer one the following (A) or (B):
Choose the correct answer:
(A) Limestone as a constituent of the
earth’s crust is classified as:

Silicates

Sulfides

®
®
©
@

(B) The ability of mineral to reflect light
that falling on its surface.

@ Streak

@ Hardness

Carbonates

Oxides

16

103 (@) 9f (1) ol ) i im0 - YA
1 ole JIA elal! llawmed | LGS

SV baylgatialepg,d pap 2
Oslaed! JISCal dwlyy 2 Coomu
AtileasIy adbjall Lgmilasy

el Lgiatasl H9umg

i

Jeeo ¥ 20 9 S St s —l

o OLART, HeuS Lgaly B ady
S Lpbany g pmalt g
@Ol e Aodigial! Hedmall A

103 () 91 (1) ot 3ualt i i) - Y4
1Jadd dovowall Al oS

2 29> 9! (G | ymm I pday
Ao gama (paid iy ¥I by ua

CIA 7 (VG o)l - A=alyol) dulinl) A
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30- Answer one the following (A) or (B): 1@ (0) 9 (1) e 3uadt i yise) =Y

What is meant by: 1= Sguaiiall Lo
(A) oil shale. -laait! Jatatl -
(B) Lopolith. e

31- What would happen if..................... s i Sty 13Le -1
Eroding the agricultural lands. S )3 Gy 30 g oS

32- Justify the following statement: 1A Lt Jle -¥Y
Although colour is the most obvious dilas 381 48 Guaed) 033 O 08
property of minerals, it may not be very Lo Aerad ¥ ALUE Bas 451 ) il g
useful for their identification. Oalastl e Bl 2

17 AWl
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33- Mention:

One similarity and one difference between:

Oxidation process and acid rains.

x)s;\‘ =YY
O HE) VS, VR )_sb AALJJ.U Lé::j
RIS (INT SO TPY UK £ ()T PPS

Oxidation process
BuwSY Adac

acid rains
deinatl Hllaoe ¥

similarity
alan

M

18
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34- Study the given figure and answer the
following (a) and (b):

h&c%ipﬁ‘;!m‘ S gl =Y E
ey

T Ut T e (AP

T e T R

— R,
“

S i Continental plate
e
- C —> ; A‘-L‘_I_L Goldrg
Oceanic plate Subducﬁm o]
Gl zet Oulwdi¥ Bl g =

W‘@jﬁd‘gﬂ‘tﬁc‘bj :’}(‘9“

(a) Mention the type of the tectonic
movement represented in the given figure.

(b) Give one example for the rocks that a35eals sty YLie CnS sl
forming (C) and one example for ity ¥iie o3 (C) 3 assan
rocks that produced from (B). {(B) re 2ttt ys5iat

19 LA 5
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35- Write briefly on: 10 b by LGS Y0
Herbivorous animals as an example of ASlgiuuad | SLSISY JLieS cadial| SIS
consumers on desert environment. A glroall At 3 sliald

36- From your study, explain “Solving the 1S yd Loa HS31 -¥7

problem of spreading urbanization” — o paat o 51 AS G0 £ Me Bk
20 LA 5
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37- Answer one the following (A) or (B): 1@ () 9 (1) Cndtguadt i it -V
Write the scientific term: role JIAT elal! zllaaall CCS)
(A) Those resources are constantly Ancdall ;83,81 5o JIa3 L33l gedl -

available in the biosphere because of | Le coaaitty Hlpaiud! e L5 yuat
its ability for continuity and renew O Lgua a1 5B OLud ¥ oty @
unless man causes its extinction or its NVSTYRL PRV [Pt ]
depletion and deterioration. Aibeast) Slebuall (4o Ao geme-y
(B) They are chemical industries basically | olaidess ol sSe Lyl !
depend on components or oil plans dolico o Culds Jg i)
derivatives, which produce most of LAY Lgisy Olat ¥ anlisy Ls
what man need in his life and those #Mall slgay Olataielly Zueliall
product synthetic fibers, detergents,
dyes and paints.

38- “The concentration of the salts Lo yoomeid | A o A y3 Sl = YA
dissolved in the sea water varies cds dlaoal | liedl g pla
according to the surrounding climatic | L5 =2 3)ladt o (3L
conditions”. -Gy

Discuss this statement in the light of what
you have studied.

21 LA 5

CIA 7 (VG o)l - A=alyol) dulinl) A



LN 90 - (2 oD M1 ASUL) Aerd) p glal g Lior 68 guoeh) - Y+ A/ Y+ IV st yeAM Al - b 2 3L st 51 ALEIN B3Lg s omha

39- Write the mineral of each of the :‘}njs‘,lcdh.m Odaelt @l CGSH -4
following statements: ¥ g Apulond Aoy Adias (Ko Ooiae -
(A) A mineral scratched by copper coin AR Ads (Sa
and can’t scratched by the finger nail. | fa&ius oubliaell cant fase o
(B) A mineral attracted to magnet and is rorally pasdidelio 8
used in the steel industry.
40- Give reasons: sl Lot et HS3f - £+

The study of animals and plant fossils is A gt ALY Ay piad
one of the evidences supporting the theory | 2,8 susel walgdl usi 4kl

of Continental Drift. AT By
41- What are the results of: 1 ole A ylel) K (o2 Lo - )
Collision between two continental plates, | (8583 G s (s colaS 3925
give example. -Jlie S5 as Sl
22 LA 5
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42- Choose the correct answer:

When the temperature becomes somewhat

unsuitable in the medium, ............ -
revert to cyst formation.

@ Bacteria
@ Protozoa

@ Insects

(@ Reptiles

43- Answer one the following (A) or (B):

Give one similarity and one difference
between:

(A) Peridotite and Rhyolite

(B) Sandstone and table salt rock.

1 daZB Asvoual| sl W1 Sl -£Y

Z\..t.uu.éﬁésj‘)a_” A yy (9SS Lotie
‘__,:..HQ."\SJ|A.¢AUZ._H:|L_5;\J|J4“3J!‘,A

5Dk 9o (33553 A ... Ll
s (D

At ¥ cliset ©
St 3

saig 53! @

103 () 9 (1) o ouadt i st - £ Y
T Al 1Ay Ly oS
R3S Yl
e 5315 g s g
(§ pualialalali zle g Le 1 pomandf -0

Similarity (

ALz

Difference

&) v

23
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44- Study the given figure and answer the | ge coi e TGN JSEI iyl -€ €

following: s G Al
2) 3)
L] L] \ * ‘ ' ' L ' -‘. (4) y
L} L] . L] L[] L] a : (1) [
3) 2
(A) Write the name of the geologic O 39341 (s 31 el 381 X
structures (2) and (3). () ()

(B) The type of texture to be mentioned, | ¥l o zobid! e 53 5831 :Lals
if rock number (4) is a mud rock e Bylie () By p3all OIS B
subjected to pressure and heat due to | 279 5addl o2 a8 b Sos
the intrusion of the igneous body (1). | (! wasl s dns

24 LA

[N/ CAIV il joadl - G=alypol) dulinl) G



L 51 - (g 3-elady W ASUILY) Ao o ghatt g Liom o8 5riomdl - Yo NA/ Yo AV (oaal 5l0) Lt} - Aot 2y 63101 Zhcal 5ol ALY B3 Lokl

45- Explain Briefly: bais bz il -§0
Degradation effect of ground water: Sl ¥ olioll ougll Joall
Al cgld
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